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Urban neighbourhoods are a result of the residents
NOT owning the process of
envisioning/designing/retrofitting their own locality.
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Problem Statement # 2 s s

Urban residents have no way of
“seeing/knowing/measuring” the impact of their
cumulative individual actions & inactions on the
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- Urban neighbourhoods can be transformed if residents
~ OWNED the process of envisioning/planning them.
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Urban re5|dents are more likely to take |nd|V|duaI actlons

| if they are enabled to see/know/measure the impact of
. their cumulative individual actions/inactions
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